R (FLTR IR 2RI R FER)

[2280) AT64E5 A 1 H BLLE
B2 A 710 6655 ~70m%] 6155 ~65m% | 567 ~60m: | 51 ~ 55 | 464% ~ 5055 | 415~ 4555 | 365~ 405 | 315~ 355% | 2685 ~ 3054 2t
Hi [ON) 0 0 1 1 1 0 0 0 0 0 3
(%) 0.0 0.0 33.3 33.3 33.3 0.0 0.0 0.0 0.0 0.0] 100.0%
HEZZ EJ/\Z 0 0 0 2 0 1 0 0 0 0 3
I e 0 0.0 0.0 0.0 66.7 0.0 33.3 0.0 0.0 0.0 0.0/ 100.0%
DRBER = O8] 0 0 0 0 0 1 1 1 1 0 4
(%) 0.0 0.0 0.0 0.0 0.0 25.0 25.0 25.0 25.0 0.0] 100.0%
Bh# [ON) 0 0 0 0 0 0 0 0 0 0 0
(%) - - - - - - - - - - -
B ON) 0 0 1 3 1 2 1 1 1 0 10
7 (%) 0.0 0.0 10.0 30.0 10.0 20.0 10.0 10.0 10.0 0.0/ 100.0%
B2 A 710 6655 ~70m%] 6155 ~65m% | 56m% ~ 60| 51 ~ 55 | 464% ~ 505 | 4155~ 4555 | 365~ 405 | 314~ 355% | 2685 ~ 305 2t
Hi [ON) 0 1 3 0 0 0 0 0 0 0 4
(%) 0.0 25.0 75.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 100.0%
HEH T EJ/\Z 0 0 0 0 0 0 0 0 0 0 0
IO 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0%
A F TR 0N 0 0 0 0 0 2 0 0 0 0 2
(%) 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0] 100.0%
Bh# [ON) 0 0 0 0 0 0 0 0 0 0 0
(%) - - - - - - - - - - -
= ON) 0 1 3 0 0 2 0 0 0 0 6
7 (%) 0.0 16.7 50.0 0.0 0.0 33.3 0.0 0.0 0.0 0.0/ 100.0%
B2 A 710 6685 ~70m%] 6155 ~65m% | 56w ~60m | 51 ~ 55 | 464% ~ 505 | 4155~ 4555 | 365~ 405 | 314~ 355% | 265 ~ 305 2t
Hi [ON) 0 1 1 0 1 0 0 0 0 0 3
(%) 0.0 33.3 33.3 0.0 33.3 0.0 0.0 0.0 0.0 0.0] 100.0%
HEZZ EJ/\Z 0 0 0 1 0 0 2 0 0 0 3
o ° 0.0 0.0 0.0 33.3 0.0 0.0 66.7 0.0 0.0 0.0 100.0%
S e g 0 0 0 0 0 0 1 0 0 0 1
(%) 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0] 100.0%
Bh# (N) 0 0 0 0 0 0 0 1 0 0 1
(%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0] 100.0%
B ON) 0 1 1 1 1 0 3 1 0 0 8
i (%) 0.0 12.5 12.5 12.5 12.5 0.0 37.5 12.5 0.0 0.0/ 100.0%




SR [0 Tk b | 665%~70i% | 6155 ~65i% | 567% ~605% | 515 ~555% | 46/% ~507% | 41/5% ~ 457 | 36/% ~407% | 315% ~ 35/% | 265:% ~ 30)% it
B [ON) 0 1 1 0 1 0 0 0 0 0 3
(%) 0.0 33.3 33.3 0.0 33.3 0.0 0.0 0.0 0.0 0.0 100.0%
ez () 0 0 0 1 0 0 2 0 0 0 3
(%) 0.0 0.0 0.0 33.3 0.0 0.0 66.7 0.0 0.0 0.0 100.0%
FMEA =m0 0 0 0 0 0 0 1 0 0 0 1
(%) 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 100.0%
Bh# (N) 0 0 0 0 0 0 0 1 0 0 1
(%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 100.0%
At ON) 0 1 1 1 1 0 3 1 0 0 8
it (%) 0.0 12.5 12.5 12.5 12.5 0.0 37.5 12.5 0.0 0.0 100.0%
Wl HEREREBOIFR OB E N HFHL TS,
[225F - 2HEFE]
FR - HUR T TP E | 667% ~T05% [ 617% ~655% | 567% ~60i% | 51k ~ 55k | 467% ~505% [ 417% ~457% | 367% ~40i% | 3Lk ~35i% | 265% ~30m% | &l
Hi [ON) 0 2 5 1 2 0 0 0 0 0 10
(%) 0.0 20.0 50.0 10.0 20.0 0.0 0.0 0.0 0.0 0.0] 100.0%
He#rE (W) 0 0 0 3 0 1 2 0 0 0 6
AR . (%) 0.0 0.0 0.0 50.0 0.0 16.7 33.3 0.0 0.0 0.0] 100.0%
EHEWE A (AN) 0 0 0 0 0 3 2 1 1 0 7
(%) 0.0 0.0 0.0 0.0 0.0 42.9 28.6 14.3 14.3 0.0] 100.0%
Bh# (N) 0 0 0 0 0 0 0 1 0 0 1
(%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0] 100.0%
#t ON) 0 2 5 4 2 4 4 2 1 0 24
i (%) 0.0 8.3 20.8 16.7 8.3 16.7 16.7 8.3 4.2 0.0] 100.0%
AR 705% |




